(MUST BE1/8

HELD)

N
ft—— 0|0

s 7

DRILL .203 & TAP 1/4-20

THREADS 38-5/32" FROM BOTTOM OF
DOOR AND "L” DIMENSION ACROSS.

INSTALL (1) 1/4-20 SHOULDER
BOLT.

1/4-20 SHOULDER BOLT
(2 PLACES)
9
99
10-24x5/8 OVAL HD. M.S. \/
(2 PLACES)

-SET SCREWS
(3 PLACES)

ANTI=PICK CAM
(NOTE 12.)
\

/

g 7/32(5.55)DRILL
CSINK .313(8)ex |

82(2 PLCS.)M

PANIC TOUCH BAR

g OF CYLINDERA

OF TAIL PIECE &~

[

INACTIVE
STILE

38-5/32
OF DOOR

—m=—3/16 TAIL PIECE
PROJECTION
——

)

COUPLING BOSS
\ T 1-3/169
13/4 ; | FOR RIM CYL.
13/32 3-5/32
1-7/16 \ 6-5/16 &/4\/ / ’

| ‘ N~19/320 A

| |

: 38-5/30 | COUPLING BOSS

‘ }

| CXORILL & TAP (1/4-20 28) ||

‘ - VN (3 PLACES)
OFFSET | /v\(
HUNG i

=
[y

L

BOTTOM OF DOOR-

FROM BOTTOM

. PREPARE LOCK STILE PER TEMPLATE NO. 10-916 DRILL CYLINDER

. IF OUTSIDE TRIM IS BEING USED, FOLLOW DRILL TEMPLATE 10-99/.
. LOCATE CENTERLINE OF CYLINDER ON EXTERIOR OF DOOR AND

CTRIM TAIL PIECE TO FIT (3/16” PROJECTION FROM INSIDE FACE OF DOOR.)
5. MOUNT CYLINDER AND SECURE WITH MOUNTING SCREWS

. 10 LOCATE MOUNTING HOLE ON INACTIVE STILE DRILL & TAP

8. TO INSTALL STRIKE LOCATE 10-24 TAPS ON ACTIVE STILE (2 PLACES).
9.
10. CHECK OPERATION TO ASSURE THAT ALL FPARIS INCLUDING CYLINDER IF

. FOR POWER SUPFLY AND WIRING DIAGRAM, SEE DWG. 10-1003

‘RELEASE FOR PRODUCTION ‘ DATE ‘

MOUNTING INSTRUCTIONS:

MOUNTING HOLES IF REQUIRED.

DRILL IF REQUIRED.

(SUPPLIED BY LOCK MFRG.)

1/4-20 THDS. 38-5/32 FROM BIM. OF DOOR AND 'L” DIM FROM ACTIVE
STILE, AND INSTALL SHOULDER BOLT. TO INSTALL ACTIVE PAD INSTALL
TWO SHOULDER BOLTS ON STILE.(REF. 101014 FOR ACTUAL INACTIVE
DRILL TEMPLATE.)

MOUNT EXIT DEVICE AND TIGHTEN (3) 1/4-20 SOC. SET SCR'S. (2) ON
ACTIVE PAD (1) ON INACTIVE END OF PANIC DEVICE.

MOUNT AND SECURE STRIKE.

BEING USED ARE FUNCTIONING PROPERLY.

12, WHEN ANTI-PICK CAM 1S DEPRESSED BY STRIKE (BY HAVING DOOR CLOSED)
LATCH WILL NOT RETRACT. M O D E L
m FUNCTIONAL A DOOR 7 L”
= Ly CYLINDERS OPENING
B S ILCO 367 (914)|335-13/32" (5848)
N LO%VLVSOD 4271066) | 39— 13/32" (1007
i 5/169 CORBIN 1/47\4871219)|45-13/32" (1153)
"2 PLCS. SCHLAGE (6.35)
-
& I KEIL
l w 3/8"
PN N B SARGENT (9'53)
\/\/\
\/\/\
B 6.27.03 INCORPORATE SINTERED "C” STRIKE (ROLLER-LESS)  ECN1526 RM
DIMENSIONAL TOLERANCES APPROVALS DATE
BeCiA BUENGONE BT ot s <]
DECIMAL DIMENSIONS :XXX ; iOOS CHECKED lacl{s"l.
ANGULAR ¥ . O] FRACTIONAL T 1/64| DRAWN | RM |4/20/99 Mg
FILE N?Off‘ o»‘ " MATER\ALNONE SCALE N o N E fg;axgg/\gsf/‘\gﬂg AQVDEGVZJ
NEXT ASSY. FINISH NONE SHEET 1 OF 1 SHEETS
2095E—KITS INSTALLATION GUIDE DWG. NO. REV.
orr- USED HEAT TREAT 2095E RIM DEVICE x "C” STRIKE 10—1011| B



http://www.autodwg.com

DRILL .203 & TAP 1/4-20
THREADS 38-5/32" FROM BOTTOM OF
DOOR AND "L” DIMENSION ACROSS.
INSTALL (1) 1/4-20 SHOULDER

BOLT.

(2 PLACES)

Pt

o

ANTI=PICK CAM
(NOTE 12.)
\

e S~

S 7

(MUST BE1/8
HELD)

Ji

OFFSET
HUNG

10-24x5/8 OVAL HD. M.S.
(2 PLACES)

/

1/4-20 SHOULDER BOLT

-SET SCREWS
(3 PLACES)

7"&

PANIC TOUCH BAR

INACTIVE
STILE

38-5/32

FROM BOTTOM

OF DOOR

i Tt g —~—3/16 TAIL PIECE M OD EL
7/32(5.55)DRILL OF CYLINDERA PROJECTION /V\
CSINK .313(@)ox | L n 20950F
82“(2 PLCS.) OF TAIL PIECE & — = Ly
M COUPLING BOSS N LHRB SHOWN
G 1§
\ 1-3/160 3 sjie0  |[FUNCTIONALT A [ D0OR 177 7
13/16 FOR RM CYL. = | /lse | CvLINDERS OPENING
\ 13/32  3-5/32 pd ILco 367 (974)|55-15/32" (548)
6-5/16 &/ ‘ L E—— LockwooD 427(1066) 39— 13,327 (1001
i I I 1 1 CORBIN /47 |48701219) |45-15/527 (1153)
9/{? — d@:ﬁ}l, — &1 2 SCHLAGE (6.35)
J\\ LA RUSSWIN
re/320 e
SZAVAN 3/8"
38-5/32 COUPLING BOSS | 38-5/32 \ON\N\ SARGENT (@'53)
~ i S T pesovie e s <]
~—DRILL & TAP (1/4-20 28) | T —aproveD e
VAN — DEChAL ONEIGOe o = 08— SPECKED l:l(?l[SlDIl
(3 PLACES) ANGULAR * . O FRACTIONAL ¥ 1/64| DRAWN | RM | 03/19/02 CORPORATION
35 BOTTOM OF DOOR- FILE NO. MATERIAL SCALE 3447 union_PeciFic ave. ©)
10—-1055 NONE NON E LOS ANGELES, CALIF. 90023
NEXT ASSY. FINISH NONE SHEET 1 OF 1 SHEETS
2095E—KITS INSTALLATION GUIDE  [Bwo wo. TV,
O USED 4 HEAT TREAT 2095E RIM DEVICE x *S” STRKE|1O—1055 | A

. PREPARE LOCK STILE PER TEMPLATE NO. 10-916 DRILL CYLINDER

. IF OUTSIDE TRIM IS BEING USED, FOLLOW DRILL TEMPLATE 10-99/.
. LOCATE CENTERLINE OF CYLINDER ON EXTERIOR OF DOOR AND

CTRIM TAIL PIECE TO FIT (3/16” PROJECTION FROM INSIDE FACE OF DOOR.)
5. MOUNT CYLINDER AND SECURE WITH MOUNTING SCREWS

. 10 LOCATE MOUNTING HOLE ON INACTIVE STILE DRILL & TAP

. TO INSTALL STRIKE LOCATE 10-24 TAPS ON ACTIVE STILE (2 PLACES).
. MOUNT AND SECURE STRIKE.
10. CHECK OPERATION TO ASSURE THAT ALL FPARIS INCLUDING CYLINDER IF

. FOR POWER SUPFLY AND WIRING DIAGRAM, SEE DWG. 10-1003

‘RELEASE FOR PRODUCTION ‘ DATE ‘

MOUNTING INSTRUCTIONS:

MOUNTING HOLES IF REQUIRED.

DRILL IF REQUIRED.

(SUPPLIED BY LOCK MFRG.)

1/4-20 THDS. 38-5/32 FROM BIM. OF DOOR AND 'L” DIM FROM ACTIVE
STILE, AND INSTALL SHOULDER BOLT. TO INSTALL ACTIVE PAD INSTALL
TWO SHOULDER BOLTS ON STILE.(REF. 101014 FOR ACTUAL INACTIVE
DRILL TEMPLATE.)

MOUNT EXIT DEVICE AND TIGHTEN (3) 1/4-20 SOC. SET SCR'S. (2) ON
ACTIVE PAD (1) ON INACTIVE END OF PANIC DEVICE.

BEING USED ARE FUNCTIONING PROPERLY.

WHEN ANTI-PICK CAM 1S DEPRESSED BY STRIKE (BY HAVING DOOR CLOSED)
LATCH WILL NOT RETRACT.



http://www.autodwg.com

(MUST BE 1/8
HELD)

DRILL .203 & TAP 1/4-20
THREADS 38—5/32" FROM BOTTOM OF
DOOR AND "L” DIMENSION ACROSS.

INSTALL (1) 1/4-20 SHOULDER

BOLT.

1/4-20 SHOULDER BOLT

(2 PLACES)

[

OFFSET
HUNG

ANTI=PICK CAM~
(NOTE 13.)
.

I -

——10-24x3/4 OVAL HD. M.S.
‘ (2 PLACES)

/g
/ 8 7/32(5.55)DRILL

/

ACTIVE PAD —/

99

‘a"&

SET SCREWS
(3 PLACES)

DOGGING INSTRUCTIONS LABEL

INSTR. GUIDE.

g OF CYLINDERA

CYUNDER RE-KEYING

MODEL
2090C

1/4-20 / 3

/END

1.

oF

SET SCR.

i

CAP
LOCK PLATE

385/ 8.
\ FROM BOTTOM
\ OF DOOR

11.

12.

LHRB (SHOWN)

—»=—3/16 TAIL PIECE

‘RELEASE FOR PRODUCTION ‘ DATE

MOUNTING INSTRUCTIONS:
PREPARE LOCK STILE PER TEMPLATE NO. 10-916 DFRILL CYLINDER
MOUNTING HOLES IF REQUIRED.

. IF OUT SIDE TRIM IS BEING USED, FOLLOW DRILL TEMPLATE 10-997

LOCATE CENTERLINE OF CYLINDER ON EXTERIOK OF DOOR AND
DRILL IF REQUIRED.

CTRIM TAIL PIECE TO FIT (3/16" PROJECTION FROM INSIDE FACE OF DOOR).
. MOUNT CYLINDER AND SECURE WITH MOUNTING SCREWS

(SUPPLIED BY LOCK MFRG.)

. 10 LOCATE MOUNTING HOLE ON INACTIVE STILE DRILL & TAP

1/4-20 THDS. 38-5/32 FROM BIM. OF DOOR AND “L" DIM FROM ACTIVE
STILE, AND INSTALL SHOULDER BOLT. TO INSTALL ACTIVE PAD INSTALL

WO SHOULDER BOLTS ON STILE.

REMOVE INACTIVE END CAP AS SHOWN BY RELEASING 2 EA. 8-32 FHMS.

(FOR INSTALLMENT OF LOCK CYLINDER, SEE DWG. 10-911 INSTRUCTION GUIDE.)
RELEASE 4-40 SET SCREW, SLIDE COVER PLATE AND ASSEMBLE PER GUIDE 10-911.
REINSTALL COVER ASSEMBLY AND THE INACTIVE END CAP INTO PANIC BASE,
FINALIZE PANIC ATTACHMENT WITH 1/4-20 SET SCREW.

MOUNT EXIT DEVICE AND TIGHTEN (3) 1/4-20 SOC. SET SCR'S. (2) ON
ACTIVE PAD (1) ON INACTIVE END OF PANIC DEVICE.

9. TO INSTALL STRIKE LOCATE 10-24 TAPS ON ACTIVE STILE (2 PLACES).
. MOUNT AND SECURE STRIKE.

CHECK OPERATION TO ASSURE THAT ALL PARTS INCLUDING CYLINDER IF
BEING USED ARE FUNCTIONING PROPERLY.
DOGGING INSTRUCTIONS

70 D0G: :FULLY DEPRESS TOUCH BAR, PUSH DOGGING PIN, THEN RELEASE.
70 UNDOG PUSH DOGGING PIN UP,BAR WILL RELEASE.

3. WHEN ANTI=PICK CAM IS DEPRESSED BY STRIKE (BY HAVING DOOR CLOSED)

LATCH WILL NOT RETRACT.

CSINK 313(8)s \ PROJECTION
. X _
82°(2 PLCS.) OF TAIL PIECE & ] FUNCTIONAL A DOOR ” L”
M COUPLING BOSS CYLINDERS OPENING
@ I \/L}/\ ILCO 36" (974) |35-13/52" (648)
\ T 1-3/16¢ N LOCKWOOD 42771066) |39—13/32" (10071
\ FOR RIM CYL. = YALE =L - .
13/‘ Lu CORBIN 1/4 48 (72/9) 45 7]/]2 (775})
\ 13/32 35/3 S SCHLAGE (6.35)
_ N X = RUSSWIN
6-5/16 4 S
L 1 = e
g\}/i/f/i [ — T SARGENT <§/583;
i 19/329 A
‘ COUPLING BOSS ~ ANAY
38-5/32 \ = 5/32 \ NN\
(L B 06/13/00 ADD NOTES FOR OQUTSIDE TRIM ECN1384 RM
i i A o T N poa e ms <]
~——DRILL & TAP (1/4-20 2B) |i £ SPEeR APPROVED °
NN —L L R jackson
(3 PLACES) ANGULAR ¥ . O] FRACTIONAL T 1/64| DRAWN | RM | 4/20/99 CORPORATION
35 BOTTOM OF DOOR-— FILE NO. MATERIAL SCALE 3447 UNION_PACIFIC AVE, ©
10-968 NONE NONE L0S ANGELES, CALIF. 90023
NEXT ASSY. FINISH NONE SHEET 1 OF 1 SHEETS
2095C—KITS INSTALLATION GUIDE  [owe o REV
onv- US4 HEAT TREAT 2095C RIM DEVICE x "C” STRKH 10—968 | B



http://www.autodwg.com

	10-1011
	10-1011.dwg
	Model


	10-1055
	10-1055.dwg
	Model


	10-968
	10-968.dwg
	Model



